g % /5 @ 6 M6 rong da thuc

Tén: Ngaythang:_ Piém:__
(4x+ 1)(x— 1)(6x - 2) (33 + 5x+ 5)(x— 3) +2 x 2x + 3
(3x* — 6x+ 6)(dx—3)— 6 x 6x + 1 (6x + 6)(6x — 6)(x — 6)
4x — (3 +4x)(3x — 1)(5x + 4) (> + 2x— 1)(dx + 6) — 6x — 3
(4x* — x—2)(4x+2)— 4 x 6x— 3 (6x — 6)(2x + 2)(x — 6)
(2% — x — 4)(6x + 3)+2 x 4x + 3 (5x° + 4x — 2)(2x — 4) — 4x — 4
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g % /5 @ 6 M6 rong da thuc

Tén: Ngay thang: Piém:
(4x+ D)(x— 1)(6x — 2) (B3x% + 5x+5)(x— 3)+2 x 2x+ 3
24x° — 26x% +2 3 — 4% — 6x— 12
(3x2 —6x+6)(4x—3)—6x6x+1 (bx + 6)(6x — 6)(x — 6)
120° — 33x% + 6 — 17 36x° — 216x% — 36x + 216
4x — 3+ 4x)(3x — 1)(5x + 4) (* + 2x— 1)(4x + 6) — 6x — 3
—60x° — 73x* —x+ 12 46 + 142 +2x— 9
(4> —x—2)dx+2)—4 x 6x— 3 (6x — 6)(2x + 2)(x — 6)
1637 + 4% — 34x— 7 12%° — 72¢% — 12x + 72
(2% — x— 4)(6x+ 3)+2 x 4x+ 3 (5% + 4x—2)(2x —4) — 4x — 4
12x° - 19x—9 10x° — 12x% — 24x + 4
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